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Math 1172 - Autumn 2015 Name:

Quiz 1 - Take Home Recitation Instructor:

SHOW ALL WORK!!! Unsupported answers might not receive full credit.

Problem 1 [4 points] Consider the shaded region R in the image below.
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a) Set up an integral that represents the area of the region R using the y-axis.
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b) Set up a sum of integrals that represents the area of the region R using the z-axis.
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c) Compute and compare the values for the area of region R from parts a and b.

See the wext poge .
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- So , e qot  the Some answer. Trom (0) and (b)



